Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2016

Subject Name: Object Oriented Programming with C++
Subject Code: 2TE040OOP1 Branch: Diploma(CE)
Semester: 4 Date: 05/05/2016 Time: 2:30 To 5:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)
a) Who invented C++?
a) Clocksin and Mellish b) Charles babbage c¢) Bjame Stroustrup d) denis ritche
b) Which of the following approach is adapted by C++?
a) Top-down b) Bottom-up c) Right-left d) Left-right
c) Which of the following header file includes definition of setfill() and endl?
a) istream.h b) ostream.h c)iomanip.h d) iostream.h
d) Initialization of static data member is

a) 0 b) garbage value )1 d) null

e) Which of the following is not formatted console i/o operations?
a) width() b) Precision() c)setf()  d)size()
f)  Aclass for which no object can be created is known as class.
a) Inherited b) Virtual c) Abstract d) Friend
g) Header files often have the file extension
a) .H b) .HE c) .HEA d) .HEAD
h)  Which of the following is not the member of class?
a) Static function b) Friend function c¢) Const function d) Virtual function
i)  Which concept of OOP offers the reusability feature?
A. Inheritance B. Abstraction C. Polymorphism D. Encapsulation
j)  What will b e output of following code?
int main()
{
int a;
a=15/3+5;
cout << g;
return O;
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}
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k) Which of the following concepts means wrapping up of data and functions
together?
a) Abstraction b) Encapsulation c) Inheritance d) Polymorphism

[) Toenter acomment in a C++ program, you begin the comment with

fole b) && «¢) / d)\
m)  Which of the following statements regarding inline functions is correct?
a) Speeds up execution. b) Slows down execution.
c) Increases code size. d)Both A and C.

n) What will happen if a class is not having any name?
a) Cannot have a destructor. b) cannot have a constructor

c) Not allowed d) Both Aand B
Attempt any four questions from Q-2 to Q-8
Q-2 Attempt all questions
A) Explain access specifier. (5)
B) Explain advantages of C++ (5)
C) Explain reference variable. 4)
Q-3 Attempt all questions
A) Explain Structure of C++. (7
B) Describe Switch case statement with example. (7)
Q-4 Attempt all questions
A) Explain inline function with example. (7)
B) Differentiate between operator overloading and operator overriding. @)
Q-5 Attempt all questions
A) Explain deconstructor. (5)
B) Discuss member function. (5)
C) What is identifier? State the rules for naming identifier. 4)
Q-6 Attempt all questions
A) Explain friend function with example. (7)
B) Describe call by value and call by address. (7)
Q-7 Attempt all questions
A) Explain this pointer with example (7)
B) Write a note on constructor and its type. (7
Q-8 Attempt all questions
A) What is inheritance? Explain types of inheritance @)
B) Explain c++ stream class. (7)
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Attempt the following questions:
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int main()

{

int a;
a=15/3+5;
cout << a;
return O;

}
A0 B.10 C.4 D.12
o{lA WAA SleRA U oll e s WA 32l Aol S&lod of Aol aw2A?
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Attempt any four questions from Q-2 to Q-8
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Attempt all questions

AsAd ARSRIR UHesAl.
C++ oll JAEL UMM
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Attempt all questions
CH++ of RSUR AUl
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Attempt all questions
BolCcllol $&lol GELSWL WA YHHLA
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Attempt all questions
(3252 AHA
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Attempt all questions
55 S8l GELSNL U UHAA.

Slel GlLe ceRf Aol SIEL GlLE UJU AHAA
Attempt all questions
li W2 GelgRRl A AHAA

C++ BIH SARM UHLA
Attempt all questions
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